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(2x+1)x* +1)=0
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Since x"+1>0. 2x+1=0
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3. By showing your workings clearly, find the exact coordinates of the points of intersections of
the curve y=21x*+2x* ~69x+22 and the x — axis. 51
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8. (i Find the remainder when 8%° —4x* ~2x—3 is divided by 2x+1. 21
) Hence, factorise completely the cubic polynomial 85 —4x* —2x+1. 2]
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(2x+1)(2x-1*




image10.png
The polynomial P(x)=2x +ax* +bx+21, where a and b are constants. It is given that P(x)
leaves a remainder of 35 when divided by 2x—1 and has a factor of x+3.

(i)  Findthe value of 2 and of 5. 15}

(i) Explain why the equation P(x)=0 has only 1 real root. Statethe value of thisroot.  [4]
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4 The cubic polynomial f(x) is such that the coefficient of x* is 4 and the constant term is
-3. When x+1 isa factor of f{x), the quadratic factor is px” +gx+ r. It is given that
f{(x) leaves a remainder of -20 when divided by x—1.
(i) Find the values of p, gand r. 3
(@@ Solve f{x)=0. 2

(i) Hence solve the equation f(-x) = 0. [t
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p=4
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Itis given that £(x) =3 + px* ~8x—20 leaves a remainder of -8 when divided by x+1.
(@) Find the value of p.

(if) Find the range of values of x for which £(x) s a decreasing function.
(iii) By showing clearly your working. factorise £(x).

(iv) Hence. solve the cquation 3(2*)+ p(2%)—8(2")~20=0.

2]
[31
[31

[31
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Op=7 G 72<x<§ (ii) (x+2)°(3x-5) (Gv) yH0.7.
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Itis given that f(x)= (x+3)(x~2)Q(x) +cx+d for all values of x, where O(x)
is apolynomial and ¢ and d are constants.

(i)  Showthat f(2)=2c+d. m
(i)  Finda similar expression for f(~3). m

(i) Giventhat f(x)=2x" ~5x* +8x+46, without carrying out fong division,
find the remainder when £(x) is divided by x* +x—6. 1




image23.png




image24.png
c=27




image25.png




image26.png
27x+4)
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3

When 10x*~ax’ +5x+6 is divided by (2x+b), the quotient is ¢x?~11x+19,
and the remainder is d. Find the values of @, b, ¢ and d.

(51
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‘The function f s defined by £(x)

* - 22" + k" +8, where kis a constant.

Itis given that £(x) =0 has & repeated root 2.
@) Find the value of &, 2]
(i) Determine, showing all necessary working, the number of real Solution(s)

of the equation £(x)=0. 0}
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1s the only real solution for the equation)
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Given that f(x)=3x"+x" —mx* —nx+36,

@
®)

find the values of m and n when (x? ~9) is a factor of f(x),
hence solve the equation £(x) = 0.

31
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6 Ttis given that f(x) =2x* +2° —8x—4.
@)  Factorise £(x). showing your working clearly. 31

(i)  Show that the equation £(x)+10x+5 =0 has only one real root and state its
value. 31
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